
 

Model Paper 
Mathematics (New) 

9th (Fresh/Reappear) 
 

Note: Time allowed for Section – B and Section – C is 2 Hours and 40 minutes. 
 Section – B  Marks: 36 
Q-II Attempt any NINE parts. Each part carries FOUR marks.  
 

1. Solve the following system of equations with the help of matrices,  
x – 2y = 1, 3x + y = 40 

2. If a,b denote the real numbers then simplify 
 
 
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4a b

a b
 

3. Simplify with the help of logarithm.  256
(12.00)(0.0123)

 

4. Find the value of (a + b)2, when a + b = 3, ab = -2  
5. Find the product of (a + 2) ( a2 – 2a + 4)  

6. If x 3 2 2  , find value of 2
2
1x
x

  

7. Factorize 25y2 – 16  
8. Find HCF by division method of (x2 + 5x + 6) and (x2 + 4x + 3) 
9. Find HCF and LCM of (16x2 – 14x  + 3) and (6x2 + 5x – 4) 
10. Sum of THREE consecutive odd integers is 83. Find the numbers.  
11. Solve the equation x 2 3 8    

12. Construct a table for four pairs of values satisfying the equation x – y = 5  
 Section – C  Marks: 24 
Note : Attempt any THREE questions. All questions carry equal marks. 
 

Q-III Show that the points C ( 2, 5), B (5, 1) and A (1, –2) are the vertices of right angled triangle.  
  

Q-IV Show that any point on the right bisector of a line segment is equidistant from its end points.  
  

Q-V Show that the bisectors of the angles of a triangle are concurrent.  
  
 

Q-VI Construct a ABC when mAB 7cm, mCA 6cm  and oB 45   
 

 ) ج(اور ⒳  ) ب(䔘: -   ⒳ٹ ǖ ǖ͋   䞀 㾑۔  ㏨40  2㇏ ⺵ و
   ⒳)ت )ب㑗⟷ ء و⡍ 䬚䄍 اردو 䥞ٳا ǌɟ   䓖۳۶  

ǔٳو ᨴ ㈉ر 䞀 䓖۔ ) 9(درج ذ␰II-   䔘 ╌ 䆀  䫡ال  ُǌٳ ؼ Ǐɝ ۔㟏 ٱتǌ˄اᣅ 㰗 ㈉ ٳاءǔ ǌاؼ  
㱄 ㅎد ╌ 㿂رᣆ ذ㱉 䫡وات 䮨⸗ ỡ۔ 㒆Ⱄں   )۱(  

x – 2y = 1, 3x + y = 40 
  

)۲(   䯆اa  اورb  ۔䮨⸗ 㰗 Ꮰ ں۔䜫 اد⣹ا Ỏ 
 

23 2

22

4a b

a b
  

㱄 ㅎ ᑑ䯆㥀256د ╌ 䮨⸗ 㰗۔   )۳(
(12.00)(0.0123)

    )۴(  (a + b)2 ⴶ ㅎ䮨⸗ م㸈  ۔ ᜵a+b=3, ab= -2  
xا۶(   䯆(      ḝ(a + 2) ( a2 – 2a + 4)❅ ➳ب 㸈م ⸗䮨۔   )۵( 3 2 2 Ꮰ 2

2
1x
x

 ۔䮨⸗ م㸈 ⴶ ㅎ  
  ۸(  (x2 + 4x + 3)(    ᄍ25y2 – 16ى ⸗䮨۔       )۷( ٶر䩕  (x2 + 5x + 6)اور  ǔ ǌ̔ ⣇ ⵇدا⤶ 

  㸈 ኩم ⸗䮨۔ 
)۹(  16x2 – 14x + 3  6اورx2 + 5x – 4 د⣇ ⵇ Ⲹا⤶ اور ذوا➷ف ا

  㸈م ⸗䮨۔ 
  )۱۰(   ⧌㭯 ⵇ اد⣹ق ا⟷ 㳜 ᓕ83  ۔ㅿ م㸈 اد⣹ا 䞈  

)۱۱(   㐖  ǘ ǎϔد〨 وات㱉  ۔䮨⸗ ỡx 2 3 8     )۱۲(   وات㱉 x – y = 5   ǌ ǖҍ㪟 رᨴ 㩔وا 䗂⸗  ǖ ǌҍٱ Ǖ˄   ǖدرח 〨
۔  ǘ ǎϔ ٶولৄ  ǌ؎ ⵇ ڑوںᣅ  

    ⒳)ج(   䓖۲۴  
ٳ 䞀۔   - :䔘ٹ ǌɟٳا ǌɟ 䓖 ㈉ ال␰ ٳ Ǐɝ ۔ ㅿ ٳ ǎɟᅀ ٱتǌ˄اᣅ ㈉ ت㑔ا␰ ᓕ ╌ 䤈〨  

    

 III- ال␰  ۔䞀 راس ㈉  㬹 䮪او㘯ٱ ا ǖ ǘɤⰔ  ǎا׏ A (1, –2)    ،اور  C ( 2, 5), B (5, 1)  ط䏙 〪  ㅿ  ǖ ǌҍٱ Ǖ˄  
IV-ال␰  〪  ㅿ  ǖ ǌҍٱ Ǖ˄䏮 ⁩ 䤈〨 Ⲛوا 䯎 ✮ٱ ǔ˄ ͂̓ ㈉ ⦫دى   Ⲑ ⹔ ۔䞈 ٱ ǖ˄ 䜫 ❓㜞وى ا㱉 ╌ وں⇤ ㈉ ̓͂    
V- ال␰  〪  ㅿ  ǖ ǌҍٱ Ǖ˄۔䞀 ᓧ䜫 䏮 䚽 ✮ٱ ǔ˄ ٵں ا⟌ع ㈉ ⦫دى  ǔ ǎ ų̈̄  ㈉ 㬹 ⹔  

VI- ال␰ oB 45  اور    mAB 7cm, mCA 6cm    ǘ ǎϔৄ ۔ ᜵ ABC 
 
 


